

Derivatives

March 1, 2010

Rate of Change

O : fixed point in space. For P in space: $f(P) = |OP|^2$

Question: How does f change around a point P_0 in space?

Rate of Change

O : fixed point in space. For P in space: $f(P) = |OP|^2$

Question: How does f change around a point P_0 in space?

$$\text{Change in } f = f(P) - f(P_0)$$

Rate of Change

O : fixed point in space. For P in space: $f(P) = |OP|^2$

Question: How does f change around a point P_0 in space?

$$\text{Change in } f = f(P) - f(P_0)$$

Quantitative question:

Rate of Change

O : fixed point in space. For P in space: $f(P) = |OP|^2$

Question: How does f change around a point P_0 in space?

$$\text{Change in } f = f(P) - f(P_0)$$

Quantitative question: Rate of change of f at P_0

Rate of Change

O : fixed point in space. For P in space: $f(P) = |OP|^2$

Question: How does f change around a point P_0 in space?

$$\text{Change in } f = f(P) - f(P_0)$$

Quantitative question: **Rate of change** of f at P_0

Ambiguity:

Rate of Change

O : fixed point in space. For P in space: $f(P) = |OP|^2$

Question: How does f change around a point P_0 in space?

$$\text{Change in } f = f(P) - f(P_0)$$

Quantitative question: **Rate of change** of f at P_0

Ambiguity: Rate of change of f with respect to WHAT?

$$\text{Rate of change} = \frac{f(P) - f(P_0)}{??}$$

Rate of Change

O : fixed point in space. For P in space: $f(P) = |OP|^2$

Question: How does f change around a point P_0 in space?

$$\text{Change in } f = f(P) - f(P_0)$$

Quantitative question: **Rate of change** of f at P_0

Ambiguity: Rate of change of f with respect to WHAT?

$$\text{Rate of change} = \frac{f(P) - f(P_0)}{??}$$

Naive answer:

Rate of Change

O : fixed point in space. For P in space: $f(P) = |OP|^2$

Question: How does f change around a point P_0 in space?

$$\text{Change in } f = f(P) - f(P_0)$$

Quantitative question: **Rate of change** of f at P_0

Ambiguity: Rate of change of f with respect to WHAT?

$$\text{Rate of change} = \frac{f(P) - f(P_0)}{??}$$

Naive answer: With respect to distance from P_0

$$\frac{f(P) - f(P_0)}{|P_0P|}$$

Rate of Change

O : fixed point in space. For P in space: $f(P) = |OP|^2$

Question: How does f change around a point P_0 in space?

$$\text{Change in } f = f(P) - f(P_0)$$

Quantitative question: **Rate of change** of f at P_0

Ambiguity: Rate of change of f with respect to WHAT?

$$\text{Rate of change} = \frac{f(P) - f(P_0)}{??}$$

Naive answer: With respect to distance from P_0

$$\frac{f(P) - f(P_0)}{|P_0P|}$$

Problem:

Rate of Change

O : fixed point in space. For P in space: $f(P) = |OP|^2$

Question: How does f change around a point P_0 in space?

$$\text{Change in } f = f(P) - f(P_0)$$

Quantitative question: **Rate of change** of f at P_0

Ambiguity: Rate of change of f with respect to WHAT?

$$\text{Rate of change} = \frac{f(P) - f(P_0)}{??}$$

Naive answer: With respect to distance from P_0

$$\frac{f(P) - f(P_0)}{|P_0P|}$$

Problem: **instantaneous rate of change**

$$\lim_{P \rightarrow P_0} \frac{f(P) - f(P_0)}{|P_0P|}$$

does not exist!

Rates of Change along Lines

L : line through $P_0(\mathbf{r}_0)$.

Rates of Change along Lines

L : line through $P_0(\mathbf{r}_0)$.

How does $f(\mathbf{r}) = |\mathbf{r}|^2$ change **along** L ?

Rates of Change along Lines

L : line through $P_0(\mathbf{r}_0)$.

How does $f(\mathbf{r}) = |\mathbf{r}|^2$ change **along** L ?

$\mathbf{r}: \mathbb{R} \rightarrow L$: smooth parametrization of L , $\mathbf{r}(0) = \mathbf{r}_0$

$$g: \mathbb{R} \rightarrow \mathbb{R}, \quad g(t) = f(\mathbf{r}(t))$$

Rate of change of f along L = rate of change of g

Rates of Change along Lines

L : line through $P_0(\mathbf{r}_0)$.

How does $f(\mathbf{r}) = |\mathbf{r}|^2$ change **along** L ?

$\mathbf{r}: \mathbb{R} \rightarrow L$: smooth parametrization of L , $\mathbf{r}(0) = \mathbf{r}_0$

$$g: \mathbb{R} \rightarrow \mathbb{R}, \quad g(t) = f(\mathbf{r}(t))$$

Rate of change of f along L = rate of change of g

With respect to t :

$$\lim_{t \rightarrow 0} \frac{f(\mathbf{r}(t)) - f(\mathbf{r}(0))}{t} = \lim_{t \rightarrow 0} \frac{g(t) - g(0)}{t} = g'(0)$$

Rates of Change along Lines

L : line through $P_0(\mathbf{r}_0)$.

How does $f(\mathbf{r}) = |\mathbf{r}|^2$ change **along** L ?

$\mathbf{r}: \mathbb{R} \rightarrow L$: smooth parametrization of L , $\mathbf{r}(0) = \mathbf{r}_0$

$$g: \mathbb{R} \rightarrow \mathbb{R}, \quad g(t) = f(\mathbf{r}(t))$$

Rate of change of f along L = rate of change of g

With respect to t :

$$\lim_{t \rightarrow 0} \frac{f(\mathbf{r}(t)) - f(\mathbf{r}(0))}{t} = \lim_{t \rightarrow 0} \frac{g(t) - g(0)}{t} = g'(0)$$

Still ambiguous:

Rates of Change along Lines

L : line through $P_0(\mathbf{r}_0)$.

How does $f(\mathbf{r}) = |\mathbf{r}|^2$ change **along** L ?

$\mathbf{r}: \mathbb{R} \rightarrow L$: smooth parametrization of L , $\mathbf{r}(0) = \mathbf{r}_0$

$$g: \mathbb{R} \rightarrow \mathbb{R}, \quad g(t) = f(\mathbf{r}(t))$$

Rate of change of f along L = rate of change of g

With respect to t :

$$\lim_{t \rightarrow 0} \frac{f(\mathbf{r}(t)) - f(\mathbf{r}(0))}{t} = \lim_{t \rightarrow 0} \frac{g(t) - g(0)}{t} = g'(0)$$

Still ambiguous: depends on the parametrization \mathbf{r} .

Rates of Change along Lines

L : line through $P_0(\mathbf{r}_0)$.

How does $f(\mathbf{r}) = |\mathbf{r}|^2$ change **along** L ?

$\mathbf{r}: \mathbb{R} \rightarrow L$: smooth parametrization of L , $\mathbf{r}(0) = \mathbf{r}_0$

$$g: \mathbb{R} \rightarrow \mathbb{R}, \quad g(t) = f(\mathbf{r}(t))$$

Rate of change of f along L = rate of change of g

With respect to t :

$$\lim_{t \rightarrow 0} \frac{f(\mathbf{r}(t)) - f(\mathbf{r}(0))}{t} = \lim_{t \rightarrow 0} \frac{g(t) - g(0)}{t} = g'(0)$$

Still ambiguous: depends on the parametrization \mathbf{r} .

Solution:

Rates of Change along Lines

L : line through $P_0(\mathbf{r}_0)$.

How does $f(\mathbf{r}) = |\mathbf{r}|^2$ change **along** L ?

$\mathbf{r}: \mathbb{R} \rightarrow L$: smooth parametrization of L , $\mathbf{r}(0) = \mathbf{r}_0$

$$g: \mathbb{R} \rightarrow \mathbb{R}, \quad g(t) = f(\mathbf{r}(t))$$

Rate of change of f along L = rate of change of g

With respect to t :

$$\lim_{t \rightarrow 0} \frac{f(\mathbf{r}(t)) - f(\mathbf{r}(0))}{t} = \lim_{t \rightarrow 0} \frac{g(t) - g(0)}{t} = g'(0)$$

Still ambiguous: depends on the parametrization \mathbf{r} .

Solution: Arclength parametrization!

Rates of Change along Lines

L : line through $P_0(\mathbf{r}_0)$.

How does $f(\mathbf{r}) = |\mathbf{r}|^2$ change **along** L ?

$\mathbf{r}: \mathbb{R} \rightarrow L$: smooth parametrization of L , $\mathbf{r}(0) = \mathbf{r}_0$

$$g: \mathbb{R} \rightarrow \mathbb{R}, \quad g(t) = f(\mathbf{r}(t))$$

Rate of change of f along L = rate of change of g

With respect to t :

$$\lim_{t \rightarrow 0} \frac{f(\mathbf{r}(t)) - f(\mathbf{r}(0))}{t} = \lim_{t \rightarrow 0} \frac{g(t) - g(0)}{t} = g'(0)$$

Still ambiguous: depends on the parametrization \mathbf{r} .

Solution: Arclength parametrization!

Almost solves the problem:

Rates of Change along Lines

L : line through $P_0(\mathbf{r}_0)$.

How does $f(\mathbf{r}) = |\mathbf{r}|^2$ change **along** L ?

$\mathbf{r}: \mathbb{R} \rightarrow L$: smooth parametrization of L , $\mathbf{r}(0) = \mathbf{r}_0$

$$g: \mathbb{R} \rightarrow \mathbb{R}, \quad g(t) = f(\mathbf{r}(t))$$

Rate of change of f along L = rate of change of g

With respect to t :

$$\lim_{t \rightarrow 0} \frac{f(\mathbf{r}(t)) - f(\mathbf{r}(0))}{t} = \lim_{t \rightarrow 0} \frac{g(t) - g(0)}{t} = g'(0)$$

Still ambiguous: depends on the parametrization \mathbf{r} .

Solution: Arclength parametrization!

Almost solves the problem: orientation still matters.

Directional Derivatives

$f: D \rightarrow \mathbb{R}$, $P_0(\mathbf{r}_0)$ in D , \mathbf{u} nonzero vector

L : line through P_0 with direction \mathbf{u} , oriented by \mathbf{u} .

$$\mathbf{r}: \mathbb{R} \rightarrow L, \quad \mathbf{r}(t) = \mathbf{r}_0 + t\mathbf{u}$$

Directional Derivatives

$f: D \rightarrow \mathbb{R}$, $P_0(\mathbf{r}_0)$ in D , \mathbf{u} nonzero vector

L : line through P_0 with direction \mathbf{u} , **oriented** by \mathbf{u} .

$$\mathbf{r}: \mathbb{R} \rightarrow L, \quad \mathbf{r}(t) = \mathbf{r}_0 + t\mathbf{u}$$

Covariant derivative - for **nonzero** vector \mathbf{u} :

$$(\nabla_{\mathbf{u}} f)(P_0) = \lim_{t \rightarrow 0} \frac{f(\mathbf{r}_0 + t\mathbf{u}) - f(\mathbf{r}_0)}{t}$$

Directional Derivatives

$f: D \rightarrow \mathbb{R}$, $P_0(\mathbf{r}_0)$ in D , \mathbf{u} nonzero vector

L : line through P_0 with direction \mathbf{u} , **oriented** by \mathbf{u} .

$$\mathbf{r}: \mathbb{R} \rightarrow L, \quad \mathbf{r}(t) = \mathbf{r}_0 + t\mathbf{u}$$

Covariant derivative - for **nonzero** vector \mathbf{u} :

$$(\nabla_{\mathbf{u}} f)(P_0) = \lim_{t \rightarrow 0} \frac{f(\mathbf{r}_0 + t\mathbf{u}) - f(\mathbf{r}_0)}{t}$$

\mathbf{r} : arclength parametrization

Directional Derivatives

$f: D \rightarrow \mathbb{R}$, $P_0(\mathbf{r}_0)$ in D , \mathbf{u} nonzero vector

L : line through P_0 with direction \mathbf{u} , **oriented** by \mathbf{u} .

$$\mathbf{r}: \mathbb{R} \rightarrow L, \quad \mathbf{r}(t) = \mathbf{r}_0 + t\mathbf{u}$$

Covariant derivative - for **nonzero** vector \mathbf{u} :

$$(\nabla_{\mathbf{u}} f)(P_0) = \lim_{t \rightarrow 0} \frac{f(\mathbf{r}_0 + t\mathbf{u}) - f(\mathbf{r}_0)}{t}$$

\mathbf{r} : arclength parametrization $\iff |\mathbf{u}| = 1$

Directional Derivatives

$f: D \rightarrow \mathbb{R}$, $P_0(\mathbf{r}_0)$ in D , \mathbf{u} nonzero vector

L : line through P_0 with direction \mathbf{u} , **oriented** by \mathbf{u} .

$$\mathbf{r}: \mathbb{R} \rightarrow L, \quad \mathbf{r}(t) = \mathbf{r}_0 + t\mathbf{u}$$

Covariant derivative - for **nonzero** vector \mathbf{u} :

$$(\nabla_{\mathbf{u}}f)(P_0) = \lim_{t \rightarrow 0} \frac{f(\mathbf{r}_0 + t\mathbf{u}) - f(\mathbf{r}_0)}{t}$$

\mathbf{r} : arclength parametrization $\iff |\mathbf{u}| = 1$

Directional derivative - for **unit** vector \mathbf{u} :

$$(D_{\mathbf{u}}f)(P_0) = \lim_{t \rightarrow 0} \frac{f(\mathbf{r}_0 + t\mathbf{u}) - f(\mathbf{r}_0)}{t} .$$

Directional Derivatives

$f: D \rightarrow \mathbb{R}$, $P_0(\mathbf{r}_0)$ in D , \mathbf{u} nonzero vector

L : line through P_0 with direction \mathbf{u} , **oriented** by \mathbf{u} .

$$\mathbf{r}: \mathbb{R} \rightarrow L, \quad \mathbf{r}(t) = \mathbf{r}_0 + t\mathbf{u}$$

Covariant derivative - for **nonzero** vector \mathbf{u} :

$$(\nabla_{\mathbf{u}}f)(P_0) = \lim_{t \rightarrow 0} \frac{f(\mathbf{r}_0 + t\mathbf{u}) - f(\mathbf{r}_0)}{t}$$

\mathbf{r} : arclength parametrization $\iff |\mathbf{u}| = 1$

Directional derivative - for **unit** vector \mathbf{u} :

$$(D_{\mathbf{u}}f)(P_0) = \lim_{t \rightarrow 0} \frac{f(\mathbf{r}_0 + t\mathbf{u}) - f(\mathbf{r}_0)}{t} .$$

$(D_{\mathbf{u}}f)(P_0)$ = instantaneous rate of change of f with respect to change in *position* along the line with **unit** direction \mathbf{u} .

Partial Derivatives

Oxy : rectangular coordinate system in the plane

$f: \mathcal{R} \rightarrow \mathbb{R}$, $P_0(x_0, y_0)$ inside \mathcal{R}

$$\mathbf{u} = \mathbf{i} \implies \mathbf{r}(t) = \mathbf{r}_0 + t\mathbf{u} = \langle x_0 + t, y_0 \rangle$$

$$g(t) = f(\mathbf{r}(t)) = f(x_0 + t, y_0) = h(x_0 + t)$$

where $h(x) = f(x, y_0)$ is a *partial* function.

Partial Derivatives

Oxy : rectangular coordinate system in the plane

$f: \mathcal{R} \rightarrow \mathbb{R}$, $P_0(x_0, y_0)$ inside \mathcal{R}

$$\mathbf{u} = \mathbf{i} \implies \mathbf{r}(t) = \mathbf{r}_0 + t\mathbf{u} = \langle x_0 + t, y_0 \rangle$$

$$g(t) = f(\mathbf{r}(t)) = f(x_0 + t, y_0) = h(x_0 + t)$$

where $h(x) = f(x, y_0)$ is a *partial* function.

$$(D_{\mathbf{i}}f)(x_0, y_0) = \lim_{t \rightarrow 0} \frac{g(t) - g(0)}{t} = \lim_{t \rightarrow 0} \frac{h(x_0 + t) - h(x_0)}{t} = h'(x_0)$$

Partial Derivatives

Oxy : rectangular coordinate system in the plane

$f: \mathcal{R} \rightarrow \mathbb{R}$, $P_0(x_0, y_0)$ inside \mathcal{R}

$$\mathbf{u} = \mathbf{i} \implies \mathbf{r}(t) = \mathbf{r}_0 + t\mathbf{u} = \langle x_0 + t, y_0 \rangle$$

$$g(t) = f(\mathbf{r}(t)) = f(x_0 + t, y_0) = h(x_0 + t)$$

where $h(x) = f(x, y_0)$ is a *partial* function.

$$(D_{\mathbf{i}}f)(x_0, y_0) = \lim_{t \rightarrow 0} \frac{g(t) - g(0)}{t} = \lim_{t \rightarrow 0} \frac{h(x_0 + t) - h(x_0)}{t} = h'(x_0)$$

Notations for **partial derivatives**:

$$(D_{\mathbf{i}}f)(x_0, y_0) = \frac{\partial f}{\partial x}(x_0, y_0) = f_x(x_0, y_0)$$

$$(D_{\mathbf{j}}f)(x_0, y_0) = \frac{\partial f}{\partial y}(x_0, y_0) = f_y(x_0, y_0)$$

Partial Derivatives

Oxy : rectangular coordinate system in the plane

$f: \mathcal{R} \rightarrow \mathbb{R}$, $P_0(x_0, y_0)$ inside \mathcal{R}

$$\mathbf{u} = \mathbf{i} \implies \mathbf{r}(t) = \mathbf{r}_0 + t\mathbf{u} = \langle x_0 + t, y_0 \rangle$$

$$g(t) = f(\mathbf{r}(t)) = f(x_0 + t, y_0) = h(x_0 + t)$$

where $h(x) = f(x, y_0)$ is a *partial* function.

$$(D_{\mathbf{i}}f)(x_0, y_0) = \lim_{t \rightarrow 0} \frac{g(t) - g(0)}{t} = \lim_{t \rightarrow 0} \frac{h(x_0 + t) - h(x_0)}{t} = h'(x_0)$$

Notations for **partial derivatives**:

$$(D_{\mathbf{i}}f)(x_0, y_0) = \frac{\partial f}{\partial x}(x_0, y_0) = f_x(x_0, y_0)$$

$$(D_{\mathbf{j}}f)(x_0, y_0) = \frac{\partial f}{\partial y}(x_0, y_0) = f_y(x_0, y_0)$$

We compute partial derivatives by

- ▶ keeping all other variables constant and
- ▶ applying the rules for differentiation for single variable functions.

Example

Let $f(x, y) = y^2 \ln(2x + y) - e^y$.

To compute f_x

Example

Let $f(x, y) = y^2 \ln(2x + y) - e^y$.

To compute f_x we treat y as a constant.

Example

Let $f(x, y) = y^2 \ln(2x + y) - e^y$.

To compute f_x we treat y as a constant.

$$\begin{aligned} f_x &= \frac{\partial f}{\partial x} = \frac{\partial(y^2 \ln(2x + y) - e^y)}{\partial x} = \frac{\partial(y^2 \ln(2x + y))}{\partial x} - \frac{\partial(e^y)}{\partial x} = \\ &= y^2 \frac{\partial(\ln(2x + y))}{\partial x} - 0 = y^2 \cdot \frac{1}{2x + y} \cdot \frac{\partial(2x + y)}{\partial x} = \frac{2y^2}{2x + y}. \end{aligned}$$

Example

Let $f(x, y) = y^2 \ln(2x + y) - e^y$.

To compute f_x we treat y as a constant.

$$\begin{aligned} f_x &= \frac{\partial f}{\partial x} = \frac{\partial(y^2 \ln(2x + y) - e^y)}{\partial x} = \frac{\partial(y^2 \ln(2x + y))}{\partial x} - \frac{\partial(e^y)}{\partial x} = \\ &= y^2 \frac{\partial(\ln(2x + y))}{\partial x} - 0 = y^2 \cdot \frac{1}{2x + y} \cdot \frac{\partial(2x + y)}{\partial x} = \frac{2y^2}{2x + y}. \end{aligned}$$

To compute f_y we treat x as a constant:

Example

Let $f(x, y) = y^2 \ln(2x + y) - e^y$.

To compute f_x we treat y as a constant.

$$\begin{aligned} f_x &= \frac{\partial f}{\partial x} = \frac{\partial(y^2 \ln(2x + y) - e^y)}{\partial x} = \frac{\partial(y^2 \ln(2x + y))}{\partial x} - \frac{\partial(e^y)}{\partial x} = \\ &= y^2 \frac{\partial(\ln(2x + y))}{\partial x} - 0 = y^2 \cdot \frac{1}{2x + y} \cdot \frac{\partial(2x + y)}{x} = \frac{2y^2}{2x + y}. \end{aligned}$$

To compute f_y we treat x as a constant:

$$\begin{aligned} f_y &= \frac{\partial f}{\partial y} = \frac{\partial(y^2 \ln(2x + y) - e^y)}{\partial y} = \frac{\partial(y^2 \ln(2x + y))}{\partial y} - \frac{\partial(e^y)}{\partial y} = \\ &= y^2 \frac{\partial(\ln(2x + y))}{\partial y} + \frac{\partial(y^2)}{\partial y} \ln(2x + y) - e^y = \\ &= y^2 \cdot \frac{1}{2x + y} \cdot \frac{\partial(2x + y)}{y} + 2y \ln(2x + y) - e^y = \\ &= \frac{2y^2}{2x + y} + 2y \ln(2x + y) - e^y. \end{aligned}$$

Graphical Interpretation

The graph of f is the surface

$$(x, y) \rightarrow \langle x, y, f(x, y) \rangle$$

The vertical plane containing the line $\mathbf{r} = \mathbf{r}_0 + t\mathbf{i}$ is the plane $y = y_0$.
Intersection of graph with the plane $y = y_0$ is the curve

$$\gamma(t) = \langle t, y_0, f(t, y_0) \rangle \implies \text{Graph of } z = h(x)$$

Direction of tangent line to γ :

$$\gamma'(x_0) = \langle 1, 0, f_x(x_0, y_0) \rangle$$

In the xz -plane $y = y_0$, the slope of this line is

$$h'(x_0) = f_x(x_0, y_0)$$

Higher Order Derivatives

Partial derivative functions:

$$(x, y) \rightarrow f_x(x, y) \quad \text{and} \quad (x, y) \rightarrow f_y(x, y) ,$$

Higher Order Derivatives

Partial derivative functions:

$$(x, y) \rightarrow f_x(x, y) \quad \text{and} \quad (x, y) \rightarrow f_y(x, y) ,$$

The partial derivatives of the partial derivatives f_x and f_y are called *the second order partial derivatives of f* .

Higher Order Derivatives

Partial derivative functions:

$$(x, y) \rightarrow f_x(x, y) \quad \text{and} \quad (x, y) \rightarrow f_y(x, y),$$

The partial derivatives of the partial derivatives f_x and f_y are called *the second order partial derivatives of f* .

The partial derivatives of the second order derivatives are the *third order derivatives*, and so on.

$$f(x, y) \rightarrow \left\{ \begin{array}{l} \frac{\partial f}{\partial x} = f_x \rightarrow \left\{ \begin{array}{l} \frac{\partial}{\partial x} \left(\frac{\partial f}{\partial x} \right) = \frac{\partial^2 f}{\partial x^2} = f_{xx} \\ \frac{\partial}{\partial y} \left(\frac{\partial f}{\partial x} \right) = \frac{\partial^2 f}{\partial y \partial x} = f_{xy} \end{array} \right. \\ \frac{\partial f}{\partial y} = f_y \rightarrow \left\{ \begin{array}{l} \frac{\partial}{\partial x} \left(\frac{\partial f}{\partial y} \right) = \frac{\partial^2 f}{\partial x \partial y} = f_{yx} \\ \frac{\partial}{\partial y} \left(\frac{\partial f}{\partial y} \right) = \frac{\partial^2 f}{\partial y^2} = f_{yy} \end{array} \right. \end{array} \right.$$

Example

$f(x, y) = x^2y^3$. Then

Example

$f(x, y) = x^2y^3$. Then

$$f_x(x, y) = 2xy^3$$

$$f_y(x, y) = 3x^2y^2$$

$$f_{xx}(x, y) = (2xy^3)_x = 2y^3$$

$$f_{xy}(x, y) = (2xy^3)_y = 6xy^2$$

$$f_{yx}(x, y) = (3x^2y^2)_x = 6xy^2$$

$$f_{yy}(x, y) = (3x^2y^2)_y = 6x^2y$$

Example

$f(x, y) = x^2y^3$. Then

$$\begin{aligned}f_x(x, y) &= 2xy^3 & f_y(x, y) &= 3x^2y^2 \\f_{xx}(x, y) &= (2xy^3)_x = 2y^3 & f_{xy}(x, y) &= (2xy^3)_y = 6xy^2 \\f_{yx}(x, y) &= (3x^2y^2)_x = 6xy^2 & f_{yy}(x, y) &= (3x^2y^2)_y = 6x^2y\end{aligned}$$

Notice that $f_{xy} = f_{yx}$. That is not a coincidence.

Theorem (Clairaut)

If the second order derivatives f_{xy} and f_{yx} are continuous on an open domain (such as an open disk, for example), then they are equal everywhere on the domain.

Similar results for functions of three variables.